INTERMEDIATE EXAMINATION — 2021 (ANNUAL) 323

Model Set

Geography (Hrid)

Time :- 3 Hours 15 minutes Full marks - 70
|qHY : 3 ©S 15 e quifes — 70

Total No. of questions : - 70 + 20 + 6 =96
F[el ULl B W@ — 70 + 20 + 6 = 96

ghefeial & ferg A3 -

Instructions for the candidates :

1. qerreft JATEYd U Ul H B STR T |

Candidates are required to give answers in their own words as far
as practicable.

2. <R @R TRE W RY gy it wite A o ¥
Figures in the right hand margin indicate full marks.

3. Tl B HYdd Y & forg 15 e &1 ifaRea g fear ar 2

15 minutes of extra time have been allotted to read the questions
carefully.
4. U YIA-UA TI WUS| H B, WIS Ud WUs—9 |

This question paper has two sections : Section-A and Section-B.



Yue—3 ¥ 70 IS U B, o I el 35 Al B IR < © |
g% U b AU 1 3 FMEiRd &1 3R 35 a¥fIss uei 4 31fed &

SR 3 ST &, O Yo 35 IRl B & Hedih [hdT SIRAT | Ul

PR T OMR SR w3 H A T el g DI DIl /el dfcd U9 9|

| & W TR & FMEeR /TR Y& /&l /ARG Afe &1 OMR
e R TART 8] BN, AT YIeTT RO TH=T 87 |

In Section-A, there are 70 objective type questions out of which
any 35 questions are to be answered. Each question carries 1
mark. If more than 35 objective type questions are answered, the
first 35 answers only will be evaluated. Darken the correct circle
with black/blue ball pen in the given OMR answer sheet. Do not
use any type of Whitener/Liquid material/Blade/Nail etc on the
OMR sheet otherwise the result will be invalid.

Gus—g H 20 Y IAI YA & FoH I fhsl 10 Ul & IR S 3 |
% U B oY 2 i FEiRd €1 s9a sifdRed, 59 @vs d 6 a9
IR U & R4 ¥ fH=i 3 Uedl & SR o 2| YD U @ foly 5
i feifRa 21

In Section-B, there are 20 short answer type questions out of
which any 10 questions are to be answered. Each question carries

2 marks. Apart from this, there are 6 long answer type questions



out of which any 3 questions are to be answered. Each question

carries 5 marks.

¥l UBR @& Seldei-id SUBRTN BT SUANT Yuiaar afsid & |

Use of any type of electronic appliances/devices is strictly

prohibited.

Yus—3] | Section-A

axdf~ss 939 / Objective Type Questions

G119 70 db B b U b o) IR fdbey & 8 9 v e 98) 2

310 gRT g Y fAded &I OMR-¥E W fafed o | faw 35 UeHi & IR o B |

(35x1=35)

Each question from Nos. 1 to 70 has four options out of which only one is

correct. Mark your selected option on the OMR sheet. Only 35 questions are

to be answered. (35x1=35)

1.

TEell ATYfTeh Jeil O DG Dhal I fbar Tar o ?
A a3 B. yer

C. YR D.

Where was the first modern cotton mill established ?
A. Mumbai B. Patna

C. Kanpur D. Gaya
g UIae & ¢



A. snfeem o B. ®Hicd #
C. uf¥=w §raT ® D. &Y |

Haldia harbour is in:

A. Odisha B. Karnataka
C. West Bengal D. Kerala

RS # DI G Ui T S § 7
A. AT B. g 3RR®
C. DIl D. dfer

Which mineral is found in Mayurbhanj ?

A. Gold B. Iron ore

C. Coal D. Copper
Afdrevor B

A UoT9 o B. figr #

C. fevrae yeur o D. SR U< H

Manikaran is in :

A. Punjab B. Bihar

C. Himachal Pradesh D. Uttar Pradesh

e dsq o STt o Rerd g ?

A. TETET T8R B. 9O} 3rcdifcd

C. &I 8% D. Wl A8’



On which waterway port Said is situated ?

A. Panama Canal B. North Atlantic

C. Kiel D. Suez Canal

STH BIF AT IS B IULAET T8l 7 ?

A FIGaE T B. uRae+ e
C. anffe et D. Sietaryg fa=r
Which of these is not a sub branch of Human geography ?

A. Cultural geography B. Transport geography

C. Economic geography D. Climatology

RN AABTT ot GRATSTAT Pal g ?
A. STR YS9 B. figr
C. axa D. FBrqRr

Where is Narora atomic energy project ?

A. Uttar Pradesh B. Bihar

C. Kerala D. Tripura

BIhUT Vold TR BT I fhg Iy # argfRerd g ?
A. FERTS B. ®Hlc®
C. IoRI= D. anfsem

In which state is Roha station situated on the Konkan railway ?



10.

11.

A. Maharashtra B. Karnataka

C. Rajsthan D. Odisha

Hex A9 Ya—9eRAl & =9 dieTs 8l ©
A 16 HIex B. 0.7 HIcx
C. 1.9 HIcx D. 1.0 Hrex

The width between two metre gauge rail lines is :

A. 1.6 metres B. 0.7 metre

C. 1.9 metres D. 1.0 metre

s svuTd WA fod vy ¥ sraferd g ?

A. w9 YRl B. BTG

C. AfTR D. &’

In which state is Bhilai steel plant situated ?

A. Madhya Pradesh B. Chhattisgarh
C. Manipur D. Kerala

ST Q1 B B ameRa SenT § ?
A 0 B. <fife

C. swrd D. 399 & BIg 8

Which of these is an agro-based industry ?

A. Sugar B. Cement



12.

13.

14.

C. Steel D. None of these

ST HhHOT BT 3ifaH 3raver § o7 edar g ?

A S R U9 I R QMT e Bl B |

B. 9 & $=@ U4 gg < e Bt 7|

C. o ) 19 td 7Y ) 3= Bl 2|
D. 99 &% U9 §og R Qi A Il 2 |
What happens in the last stage of demographic transition ?

A. Both birth rate and death rate are high.
B. Birth rate is high and death rate is low.
C. Birth rate is low and death rate is high

D. Both birth rate and death rate are low.

I8 Ifdd ST UH a8 # 183 A & & A HM ol 8, Hgalrl ©
A =g #fis B. {Hid s1fAd

C fam D. 379 & ®ig &l

The person who works less than 183 days in a year is called :

B. Main labour B. Marginal labour

C. Farmer D. None of these

g8 I DI TPY HRD & 2

A. TEAHT B. 3fIgariaxo



15.

16.

17.

C. qdIe Sl &1 ygEd] D. 574 & |
Which of these is a pull factor ?

A. Urbanisation B. Industrialisation

C. Dominance of tertiary activity D. All of these

A9 fa®r qadid & A Bal ©

A. 005 B. 5—10
C. 90—100 D. 0—1
The value of Human Development Index is :

B. 0—05 B. 5—10

C. 90—100 D. 01

3R I Wl BT el ST §

A. faétpeer B. fuRfiheriR

C. Wb D. 579 9§ ®Ig 8
The farming of grapes is called :

A. Viticulture B. Pisciculture

C. Sericulture D. None of these

Ardoi<iep &4 & S W fhdwr =T gidr g ?
A. ts Afdqd B. Wgad Hul
C. RPR D. 399 ¥ &g 781



18.

19.

20.

Who has control over public sector industries ?

A. A person

C. Government

cIfear sienfire o= 2 :
A w9 H

C. 3iteeferar &

Tokyo industrial centre is in :

A. Russia

C. Australia

o] PlelR TR 2

A. U399 fhaThery |

o

C. gdias fharhera &

[

Gold collar is associated with :

A. Quinary activity

C. Tertiary activity

ol fog Agey # srafed g ?

A. TRrT

B.

D.

Joint company

None of these

. Japan

. None of these

Iqid fohaTherd |

o o o

[gcdldh [h T ATY Kl

. Quaternary activity

. Secondary activity



21.

22.

23.

C. sir2ferm D. 7RI

In which continent is London located ?

A. Asia B. Africa

C. Australia D. Europe

aehiorar o 3o d Rerg © ?
A. STU= B. wRd

C. STH D. ®WH

In which country is Westphalia situated ?

A. Japan B. India

C. Germany D. Spain

MU TR YA § -
A R # B. vf¥rm #
C. T 3mRar o D. ircferar o

Orient Express railway is in :

A. Europe B. Asia
C. North America D. Australia
fr=ferRaa § i ufRdgd &1 |- gl © ?

o »

FIEEKIER! B. g}
SUUE D. JIoTERT

10



24.

25.

26.

Which of the following is not a means of transport ?

A. Pipeline B. Canal
C. Satellite D. Highway

T4 fig o 59 &= o foemar g 2
A TR &3 B. #gr &=
C. IBIcIT & D. Yo &=

Wet point settlement is a characteristic of which region ?

A. Desert region B. Plain region

C. Snowy region D. Plateau region

forg wTT IRIR BT TG FId B B ?

A =frs B. WRAI—RId™
C. Rg® D. 399 & BIg -8
Which linguistic family has the largest population ?

A. Dravid B. Indo-European
C. Austric D. None of these

YRIST—ANT URITTAT 3afRerd 8 :
A. gdolol FeI TR B. 19 Tl W

C. T a1 W D. ¥eT 7l ©®

Bhakra Nangal project is located on :

11



27.

28.

29.

A. Sutlej river B. Beas river

C. Ganga river D. Narmada river
MeTeRT IR Hel © 7

A. TR 9Rd H B. qdf W H

C. Tféror 9Ra 4 D. uf¥=Hl wRa H

Where is Godavari basin ?

A. In north India B. In eastern India

C. In south India D. In western India

g8 O I W TR 81 g ?
A dst B. gqqTg

C. Pre¥El D. ge-r

Which of these is not a mining town ?

A. Khetri B. Dhanbad
C. Koderma D. Patna

T & FeR fba ufosy &1 ifeary urm Srar g 2
A & B. gatHR
C. 9 ueel D. 599 | &g 781

Which pattern of settlement is found along lake ?

A. Linear B. Circular

12



30.

31.

32.

C. Checkerboard D. None of these

qgIfedl IR = Sifeard gfawy urr Sirar 2 ?

A XdrE B. ¥dIgAr
C. gxTdR D. 79 9§ ®Ig 8l

Which pattern of settlement is found on hills ?

A. Linear B. Terraced

C. Circular D. None of these

ART § q—1 B IR /TR P ST Bl ©
A 1 g 9 I B. 10 g W 31fdrd
C. 20 B9IR | &H D. 378 ¥ ®Ig &l

The population of category-1 town/city in India is :

A. More than 1 lac B. More than 10 lacs
C. Less than 20 thousand D. None of these

HTAD], U Ug URde TeR ©

A. USITe H B. sRamm %

C. IRIEs H D. 74 ¥ &®Is 2l
Kalka, a famous transport town is in :

B. Punjab B. Haryana

C. Uttarakhand D. None of these

13



33.

34.

35.

36.

374 W P U UIH TR © 7
A. reter
C. R

Which of these is an ancient city ?

A. Nalanda

C. Barauni

STH 9 DI Yh BT F AT 7 7
A. g1

C. =

B. T9SITe
D. 398 & ®Ig &l

B. Chandigarh

D. None of these

B. dToI™T

D. 398 & ®Ig &

Which of these is related to dry farming ?

A. Paddy

C. Sugarcane

TR Tols THIIT §
N

C. U9 ¥

Operation flood is associated with :

A. Wheat
C. Cotton

TR ¥ Rias &1 IEF B

14

B. Bajra

D. None of these

B. RIaT &
D.g@ 4

B. Coconut

D. Milk



37.

38.

39.

A. et B. @i

C. iR D. Suad |4

The means of irrigation in India is :

A. Tank B. Well

C. Canal D. All of the above
URA & STol GaEH ¥ JiRyd J997 8 ¢

A. faaxor B. SUoTerdr

C. [ora<T D. Suad |4

The problem related to water resources in India is :

A. Distribution B. Availability
C. Quality D. All of the above

I D & 4 &3 © ¢

A wRES H B. fdgr 4
C. #forgR # D. &icsd H
The main regions of iron ore are in :

A. Jharkhand B. Bihar

C. Manipur D. Karnataka

HHTSIISS 9T ST ©

A IR H B. fagR ¥

15



40.

41.

42.

C. 38 §

Monazite is found in :

A. Kerala

C. Assam

ST FHIRIT 2§

A. 999 Soll |
C. @ SHoll |

Lamba is related to :

A. Wind energy

C. Geothermal energy

Hraer Aerdr © -
A iRar 3

C. 7o ¥

Coal is found in :

A. Jharia
C. Gua

SR T AIegd 2
A. Toifae=
C. s

16

B

D

B

D

B

D

EERERAR]

. Bihar

. All of the above

AR ST |
. o |

. Solar energy

. All of the above

PIAR H
as!

. Kolar

. Khetri

HHER YA

. U |/l



43.

44.

45.

Medium of public communication is :

A. Television B. Newspaper

C. Radio D. All of the above

STH ¥ DI AMINSS ISl Bl SY—IRAT & 2

A. FRfdmer e B. =1 I

C. |a®HA I D. s ¥ &®Is 2l
Which of these is a sub-branch of Social Geography ?

A. Medical geography B. Military geography

C. Resource geography D. None of these

ITTh ST Yol eI BT SUNTH T ©
A. 1990 & dTg B. 1950—1960
C. 1930—1940 D. 1930 9 Ugdl

Spatial organisation has been an approach to geographical study :
A. After 1990 B. 1950-1960

C. 1930-1940 D. Before 1930

feg & ST feg o w9 fafera= & g ?
A. 2020 B. 2018

C. 2011 D. 1975

17



46.

47.

48.

In which year population of the world became seven billions?

A. 2020 B. 2018

C. 2011 D. 1975
9 TN H B SHIbDIT GHHOT dI Iifaq raver § g ?
A TR B. sficfr

C. oifaar D. Sra=

Which of these countries is in the last stage of demographic

transition ?
A. Bangladesh B. Sri Lanka
C. Kenya D. Japan

JiRforar & smy—fefir fURIfdS @ amefa 2

A. BYSTeR B. =g
C. 3IATHR D. 579 9§ ®Ig 8l

Shape of the age-sex pyramid of Australia is :
A. Triangular B. Bell-shaped

C. Rectangular D. None of these

g4 ¥ DI g 99 A qadie | Faid 8 ?

A A | B. Ued Al I
C. gHilee D. 579 & |

18



49.

50.

51.

Which of these scholars is associated with Human Development

Index ?
A. Amartya Sen B. Ellen C. Semple
C. Humboldt D. All of these

STH DI I UEERY | FHERd § ?
A. T B. a1

C. HfeR D. 9% 9 94

Which of these is associated with nomadic herding ?
A. Llama B. Yak

C. Reindeer D. All of these

STH DI ATAIRS 3 HY § FHT 2 ?
A T B. Sit
C. g D. 579 & &+l

Which of these is associated with commercial grain farming ?
A. Wheat B. Barley

C. Rye D. All of these

ST B U—ETRT IeNT & Frfd § 2

A. DTS B. °®

19



52.

53.

54.

C. 3+ D. srq

Which of these is associated with animal-based industry ?
A. Paper B. Lac

C. Wool D. Steel

S DRI & H B AT H 7 ?

A. dTefer B. &%

C. iR D. 9% & 94

Which of these coal fields is in Germany ?
A. Talcher B. Ruhr

C. Appalachian D. All of these

STH I Jalddh Hal T8l § ?
A. gRag+ B. ¥aR
C. ¥ D. T fAeriRoy

Which of these is not a tertiary service ?
A. Transport B. Communication

C. Bank D. Policy making

ST TSPl BT THH © ¢

A T Fsdi A

20



55.

56.

B. JIRT AHr WR Rerd dsai A
C. TSl dsdi |
D. g7 | &g 2

Border roads are associated with :
A. Coastal roads

B. Roads on international boundary
C. Hilly roads

D. None of these

S RI—ATgaRIT Y| T © -
A w9 ¥ B.g U4 T H
C. &Sl H D. g5 & 1 §

Trans-Siberian Railway is in :
A. Russia B. US.A.

C. Canada D. All of these

39 vl | fhadT YINT ORI IR # fhar Sirar & 7
A. S B. MR Hed
C. o &R D. s° & &+l

Which of these words is used in international trade ?

21



57.

58.

59.

A. Dumping

C. Free Trade

B

D

. Balance of trade

. All of these

ATd ATE H fhd bR BT OR IR AT 87

A. Bl
C. suel

B

D

. qr

Which type of house is found in Loess plain ?

A. Concrete

C. Hut

8 b9 Ao TR 2 ?
A. TSNS
C. SRRy

Which of these is a planned city ?
A. Chandigarh

C. Jamshedpur

SR Ocd T vl BIdl ® :

A. STEERET UG 999 o

C. ST Ud &% I

B

D

D

B

D

B

D

. Cave

. None of these

CTH W 9l

. Canberra

. All of these

. OTFET UG URdET

The density of population has relation with :

22



60.

61.

62.

A. Population and resource B. Population and transport

C. Population and area D. None of these

2011 B SIRTVET & AR AR DI ITHIVN JAMEET 2

A. 10% B. 45%

C. 69% D. 85%

According to census 2011, the rural population of India is :
A. 10% B. 45%

C. 69% D. 85%

IRA ¥ T ARl & BRI & o GeAT fhah g ?
A 4 B. 2
C.8 D. 14

What is the total number of rural selltement types in India ?

A 4 B. 2
C.s D. 14

9 IEN H B9 gl YRd | IraRerd g ?
A. JISThIe B. gqaTg
C. g D. 79 9 |l

Which of these towns is situated in western India ?

23



63.

64.

65.

A. Rajkot B. Dhanbad
C. Puri D. All of these

Ted fha 9fH ST o= | el 287
A. IR—pa 4 B. a1 9
C. 9oR 44 D. oxell 4

Road comes under which category of land use ?
A. Land under non-agricultural uses

B. Forest land

C. Barren land

D. Fallow land

DI I FIGAT BT ol Ided B 2
A. BACH B. 31y uaer
C. IS D. 594 9 @

Which state is a leading producer of sunflower ?
A. Karnataka B. Andhra Pradesh

C. Telangana D. All of these

9 DI STlIYRYT e & AHfad g ?

A. BRIl B. sIv—Hr%

24



66.

67.

68.

C. 3R STl |G D. 398 & &1
Which of these is associated with watershed management ?

A. Haryali B. Neeru-Meeru

C. Arvari Jal sansad D. All of these

aNTh Aol JIRTT Pal g ?
A. IRTHT IR B. gferofy wRa
C. STR—gdl 9Rd D. STl 9Rd

Where is Barak river basin ?
A. Western India B. Southern India

C. North-Eastern India D. Northern India

faeg & gy ufderd AT &1 SdTeT 9Rd § fHar Sirar g ?

A 5% B. 11%

C. 25% D. 45%

What percentage of cereals of the world is produced in India ?

A. 5% B. 11%

C. 25% D. 45%

T4 DI WioT =y 9 FHEfd g ?

A. ST T 3mE B. Ta il ta

25



69.

70.

C. Il T4, i ¥l

D. 9% 9 94

Which of these is associated with mineral exploration ?

B. G.S..

C. O.N.G.C.

WEAR 3T ©
A fRHMad uew o
C. &l |

Bharmaur district is in :

C. Himachal Pradesh

C. Kerala

B. H.C.L.

D. All of these

D. o #

B. Bihar

D. Rajsthan

il SO ged: afed @

A AISTYR f3Tetr H
C. =iar f7etm #

B. sigar frer H
D. 57 9 @I el

Bhil tribe is mainly concentrated in :

D. Bhojpur district

C. Chamba district

B. Jhabua district

D. None of these

26



Yuvs—9 / Section-B

o S8 939 (Short Answer Type Questions)

U RN 1 ¥ 20 db oY IR 2 | fbel 10 U B SR < | U U B fory
2 s FEiRa &) (10x2=20)

Question nos. 1 to 20 are Short Answer Type. Answer any 10 questions.

Each question carries 2 marks. (10x2=20)

1, MG T B el IR SURTERI BT Seeid Iy |
Mention any four sub-branches of Human geography.

2 g e gadie o @1 SAIfTar g ?

What is the utility of Human Development Index ?

3. AT IUTGH PHR-dTel IR Al & A 18y |
Name four bauxite producing states.

4. e fHaie oY w8 ?
What is intensive subsistence farming ?

5. fgdae e fhardamai &1 aRufa Hifre |

Define secondary economic activities.

6. qded & IR bRl Bl Sooldd DN |

Mentiona four types of tourism.

7. JTEIATHIDHROT T & 7

27



10.

11.

12.

13.

14.

15.

16.

17.

What is outsourcing ?
aed yRagd @ fdh=l ar faevart & forfay |

Write any two characteristics of road transport.

T & IR BRI BT Iooikd DI |

Mention four types of port.

IHT g9 BBl iy ofrdl © ?
Where is heat island found ?
g IRTAT B aT THRI b 1 IRy |

Write the names of two types of compact settlements.

YR & S[C IATad &I 5dl & A 9d1gy |
Name two Jute producing states of India.
STel AReTT a1 AR At & A 9arsy |

Name four methods of water conservation.

ARABIT SHoll 7T & 2

What is nuclear energy ?

YRA BT IR Tl IMEAMARN & A9 forfRav |

Write the names of four oil refineries of India.

USRI e ®&IT 8§ 7

What is petro-chemical industry ?
ST Nold T © 2

What is metro railwary ?

28



18. 9Rd 9 Fld &1 Siearell fh=8l IR gl &1 Sceld BIfY |
Mention any four export items from India.

19. el ANl uqe &1 & fORIyamRil &1 Iecld BTy |

Mention two characteristics of Hugli industrial region.

20. 7Y SN b TR fARIAmR BT Seold HIfIY |
Mention the main characteristics of small scale industry.

4" Sa9F 939 (Long Answer Type Questions)

U9 AT 21 I 26 dP <" SRI 2| Pl 3 Ul & SR ¢ | YD Y & forv
5 3fp feiRa g1 (3x5=15)

Question Nos. 21 to 26 are Long Answer Type. Answer any 3 questions.

Each question carries 5 marks. (3x5=15)

21, YATARN G BT quie IR |
Describe Mediterranean agriculture.
22. SRS AMUR § U= T8 AN B FIT 787 © 7
What is the importance of Panama canal route in international

trade ?

23, B B IAMER R TRI I FAIHd BT |

Classify towns on the basis of functions.

24, WRA ¥ g AAT HUTH & IUTGA Ud fAaRoT BT fdavor Iy |

Give an account of production and distribution of wheat or cotton

in India.
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25.

26.

ARA H Sl YUV & DR HI fAd== BTy |
Discuss the causes of water pollution in India.
ARG H SHGET IR &7 9o HIfTg |

Describe distribution of population in India.
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